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1. The four sciences which Kautilya discussed
are
(A) Philosophy, Economics, Geography

and Politics
(B) Politics, Political Economy, History

and Ethics
(C) Philosophy, Sacred Canon, Political

Economy and Politics
(D) Economics, Sacred Canon, History

and Politics

2. This consists of two lists of statements, and
the candidate has to match an item in one
list with an item in the other by choosing
the correct code.

List-I List-II

(International (International
Relations Values) Relations Theories)

I. Security, power 1. International
politics, conflict Society
and war

II. Freedom, 2. International
Co-operation, Political
peace and Economy
progress

III. Order and Justice, 3. Realism
rules and
institutions

IV. Welfare, wealth, 4. Liberalism
poverty and equality

Codes :
I II III IV

(A) 4 3 1 2
(B) 2 4 1 3
(C) 2 1 4 3
(D) 3 4 1 2

POLITICAL SCIENCE
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3. Match the items of List-I with the items of

List-II, by choosing the correct code.

List-I List-II

I. Dwight Woldo 1. Ecology of

Public

Administration

II. L. Urwick 2. Towards a

New Public

Administration

III. Fred W. Riggs 3. Elements of

Public

Administration

IV. Frank Marini 4. Public

Administration

in a Time of

Turbulence

Codes :

I II III IV

(A) 1 4 2 3

(B) 4 3 1 2

(C) 3 1 2 4

(D) 2 3 4 1
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4. This consists two lists of statements. Match

an item in one list with an item in the other

by choosing the correct code.

List-I List-II

(The Issue) (Tenets of

Communitarianism)

I. Chief Concern 1. Society as a

whole not

individuals

II. Nature of reason 2. Reason

derived from

concerns of

social life

III. Role of the State 3. Facilitate the

emergence of

good

IV. Basis of 4. Values of

 legitimacy community life

Codes :

I II III IV

(A) 4 2 3 1

(B) 2 1 3 4

(C) 1 2 4 3

(D) 3 4 2 1
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5. Who among the following said, “If this
cannot be one world of peace, it cannot
help being one world of war. Since peace
is supposed to be indivisible, it follows that
war is indivisible too” ?
(A) Quincy Wright
(B) Hans Morgenthau
(C) Jawaharlal Nehru
(D) George Kennan

6. Arrange the chronological order of
publications of following books by
choosing the correct code.

I. Theory of Justice
II. Who Governs ?
III. Liberalism, Community and Culture
IV. Anarchy, State and Utopia

Codes :
(A) III, II, IV, I (B) I, IV, II, III
(C) IV, II, III, I (D) II, I, IV, III

7. Which one of the following is not related to
Employee-Employer relations in India ?
(A) The National Council
(B) Whitley Councils
(C) Staff Councils
(D) Joint Consultative Machinery

8. The author of “A Nation in the Making” is:
(A) Mahatma Gandhi
(B) S N Banerjea
(C) Aurobindo Ghosh
(D) Dadabhai Naoroji

9. Which of the following are the principles
of good governance ?

I. Decentralization
II. Transparency
III. Command and control
IV. Client orientation

(A) I, III and IV (B) I, II and IV
(C) I, II and III (D) II, III and IV

5. }}EK����'�"����!
	�����n�:��)�����������%0J"���I~�:�j�(���
���
$�"��-��p��"����!
	�����n�:��)�����������%���������L-���3�>�-��������J"
���'�(* Fl�������(2� F*��������
���3�$�"��-��p�����!
�
(* Fl��:���(2� F*���D���)�	��K���01�M����!.
�
(���NK�>�����'���
(A) �	��2x��+',�<"
(B) O�<�x����!�+'��<����!
(C) l����7"��'0F0<"��+�)�7"�
(D) PF�o��+����N�<�

6. )�����������C
	��������������x��'��k5-���'��%�M�)�	��K���8����%

�����'���)������!2N� ���$;"�,�����"
��������>������"���
����-���%
�����������
	�3

I. �$�"�Q�kst�lR�/s�
II. �7"����������'N�x
III. DC��'D���<��j��������!�2�	"�(�
������
���'
IV. (���Hj���/�<"�(�
���$�"��1R�$�"!

�"�#�$ :
(A) III, II, IV, I (B) I, IV, II, III
(C) IV, II, III, I (D) II, I, IV, III

7. )�	��K� ��201� n����	"�  F��'���-:���"�01�$�"�l���!2�A-"�S
���C�5-�
����� ���C�5K�����K� �%-���3�(-:�*��1
�����������
	�
(A) PF4$�"���g2x0<"
(B) *�J"?��g2x0<"
(C) h�/st��g2x0<"
(D) A����v
	�����)��K���8
�$�"��)�������

8. }}|���:��@�<��E�<�K��:���	����������8���������'����'������>�����'���
(A) ����O��v�%�5�
(B) >s�3�>�<�3�T;"����o$�"!
(C) (��'u�-"�Bt!s@
(D) -�-� F�'����g�"r

9. M�)�	��K���201�������I�
������!)��
��|*��
I. *�:��)������'�"
II. I���'-����'�������
III. kl�������$�"���2$�"��)����"
IV. �����
��I��-:�����B�,�-��UR@/

(A) I, III �����$�"�� IV (B) I, II �����$�"�� IV
(C) I, II �����$�"�� III (D) II, III �����$�"�� IV
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10. The issue of electoral reforms was

addressed by
I. Tarkunde Committee
II. Goswami Committee
III. Santhanam Committee
IV. Sachar Committee

Codes :
(A) I and III are correct
(B) I and II are correct
(C) I, II and IV are correct
(D) III and IV are correct

11. Arrange the following major events in
Indian politics in chronological order of
their occurrence

I. Declaration of emergency
II. Liberation of Bangla Desh by Indian

Army
III. Nationalization of banks
IV. Birth of Bhartiya Janata Party

Codes :
(A) II, IV, I, III (B) IV, I, III, II
(C) I, III, IV, II (D) III, II, I, IV

12. The distinction between shopkeeper and
warrior diplomacy was made by
(A) Harold Nicholson
(B) AFK Organski
(C) Harold Lasswell
(D) Quincy Right

13. Find the correct sequence of emergence
of the following theories of organization by
identifying the correct code.

I. Politics-Administration Dichotomy
II. Scientific Management Theory
III. Human Relations Theory
IV. New Public Administration

Codes :
(A) II, III, IV, I (B) I, II, III, IV

(C) II, I, IV, III (D) IV, III, II, I

10. >2N���
������H��'�"
�(���2N�|����*��	"�)��h��*���K��
I. ����'�H�
:�����*��	"
II. �"h��V�����*��	"
III. �������������*��	"
IV. ������'����*��	"

�"�#�$ :
(A) I �����$�"�� III ���+',���*
(B) I �����$�"�� II ���+',���*
(C) I, II �����$�"�� IV ���+',���*
(D) III �����$�"�� IV ���+',���*

11. >���
���� l�S���*�(�:�-�22� )I�'��K����%�4�������2
 F��'����%l�m�$�"!
��������C�5K������)�	��K�����t�.���
����
�����'����)��������01������������
	�

I. (�����������'����R��'2�Bt!R@�����.
II.  F��'4$�"��B�,����������:��C��%?-:��<"�*�+�!������
III. TF������
�����PF4$�"����:�$�"��.
IV.  F��'4$�"��l����I�Q/���8.�/���

�"�#�$ :
(A) II, IV, I, III (B) IV, I, III, II
(C) I, III, IV, II (D) III, II, I, IV

12. ��s���m�����'������$�"������$�"���'�-g����*5-���
���������5-���
A���N��:�
�������+�R�L���-+������'���
(A) B7"�%0<"=�2���
x�<�
(B) >3>st3�+�3�k��'��<�R�H
(C) B7"�%0<"=�0FB��0<"
(D) �	��2x�+',�<"

13. )�	��-��� ���WH���N��������h��R�-��p���
��k*��'{*�����������'���
)���������|*��1� ���$;"�,���� �"
��������>�R����� �:�����"���
���
-���%��+�
����
	�

I. I�
����%l�m�$�"��K� F������������
II. ��X�i$�"��2��'��7"�"�R�-�p���������
III. ���!����������C�5-�
�R�-�p���������
IV. ���!�������)�� �"�����I�
���

�"�#�$ :
(A) II, III, IV, I (B) I, II, III, IV

(C) II, I, IV, III (D) IV, III, II, I
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14. According to Shantiparva

I. There are two contracts leading to the
origin of the State

II. The State emerges to protect the
weak without divine grace

III. Divine authority provides additional
support to the idea of contract

IV. People are authorised to rise armed
rebellion against a dishonest king

Codes :
(A) I, II and III are correct
(B) II and IV are correct
(C) I, III and IV are correct
(D) All are correct

15. Given below are two statements, one
labelled as Assertion (A), and the other
labelled as Reason (R) .

Assertion (A) : Comparative politics
needs to account for the
collapse of apparently
stable communist states
and the consolidation of
democracies in countries
once beset by military
regimes.

Reason (R) : An understanding of
comparative politics
makes the world less
bewildering.

In the context of the above two statements
which one of the following is correct ?

Codes :
(A) Both A and R are true and R is the

correct explanation of A
(B) Both A and R are true but R is not

the correct explanation of A
(C) A is true but R is false

(D) A is false but R is true

14. ���'�����'�������)���%��'�����
I. �%PF���������'�"������+'�
����n
���C
	����
��-���4R����*3
II. �-+�,������U��0J"2�C
X7"����
�������'9	������F2�	���%l������

A-��{*�����K
III. �n
���C
	����� F�����������-+�,���-�����5K�%��'������(-�������8

C0F2N�E�����K
IV. � &'� TF�7"��
+� ,� ��� (dishonest) �%�� ���

����'�:'�����%�'��'������TF.���:����(5K�%��'��)��l
����
E����C
	��K

�"�#�$ :
(A) I, II �����$�"�� III ���$;"�,���*
(B) II �����$�"�� IV ���$;"�,���*
(C) I, III �����$�"�� IV ���$;"�,���*
(D) (2N����$;"�,����:�

15. M�)�	��-����+'�
����)�����.���
��E����C
	����*3�n����	"�)��'I�-�����
Assertion (A),��+'�
�����K� �7"�������8 Reason (R)
V�	"2�-��UR@/01�B�.�/�W2�K��������2�������"
���
01����$;"�,���
-�22����������8�����

(	��)*���'�� (A) : R� �� �'��%� A���N.�?� � ��2L���� ��N
�������!�2s�/� �%PF�
�� ������L���!D
I~����F2�	�j� n������
����*�
.Q
�%PF�
01� ) ��PFh��� �����
� +�# � "!�� ���F2�	�� � ���
�����v� ��
�%l� m �$� "!
�� �%� �'�"� ����
�+���L���
R��A�.��K3

+,����
���- (R) : )�������2N�(��'����:�����"���.�01
A���N� ECz�K2� ����
�����v���
�%l� m �$� "!
� (����% �7 "� ��
���S������K

�"�#�$ :
(A) A �����$�"�� R �+'�
��!��������0J"j������$�"�� A R

��������$;"�,����*�����'�"$J"�
(B) A �����$�"�� R �+'�
��!��������0J"j������$�"�� A ����

*���������F2�	� R ���$;"�,���K�%-���
(C) A �����������%2 R ������

(D) A ��������%2 R ���������
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16. Identify the branch of comparative politics
which examines the formal and informal
mechanisms by which political attitudes
are inculcated ?
(A) Political culture
(B) Political modernization
(C) Political socialisation
(D) Political development

17. The classification of staff agencies into
general staff, technical staff and auxiliary
staff is opposed by

I. L.D. White II. Pfiffner
III. Willoughby IV. Henri Fayol

(A) I and III (B) II and IV
(C) I and II (D) III only

18. Given below are two statements, one
labelled as Assertion (A), and the other
labelled as Reason (R) .

        Assertion A: No law, legal term or
principle has a single, self-
evident meaning.

Reason R :  Judges impose meaning on
law through a process of
‘construction’ that forces
them to choose among a
number of possible
meanings.

In the context of above two statements,
which one of the following is correct ?

Codes :
(A) Both A and R are true and R is the

correct explanation of A

(B) Both A and R are true but R is not
the correct explanation of A

(C) A is true but R is false

(D) A is false but R is true

16. �%l� m�$�"�� -��U���L��
����� B��I��K��:�� 0F�� �� ����+��,���
0F�������)I�$�"���%2� ��-��p����
����� ��+���%2l�<��x�
����D��:������
�����v�����%l�m�$�"��* F�����|*��	"��
(A) �%l�m�$�"�������H�U'
(B) �%l�m�$�"��k5-���2�m������'�"
(C) �%l�m�$�"��h����!G�m������'�"
(D) �%l�m�$�"��(����UKp

17. h�/st�|l&x
�����h�5-���'�"�h�/st�|l&x
��%j�h���:�'���
h�/ st� |l&x
��%j�(�����@�S���� h�/ st� |l&x
��%
���Q����������F2N�����'�:'�	������K��>�����'���

I. >0<"3�
	�3��+�,�<" II. R�st�����'
III. *01?� IV. B7")&��t$�"�0<"

(A) I �����$�"�� III (B) II �����$�"�� IV
(C) I �����$�"�� II (D) III ���!)����:��

18. M�)�	��-����+'�
����)�����.���
��E����C
	����*3�n����	"�)��'I�-�����
(Assertion-A),��+'�
�����K� �7"�������8 (Reason-R)
V�	"2�-��UR@/01�B�.�/�W2�K��������2�������"
���
01����$;"�,���
-�22����������8�����

(	��)*���'�� (A) : |�n���H� ����F/2�	�� �%2j� ���$�"�
���C�5-��� ��-�2�	�� �%2� 0J"-�
��!)��2�	�� �%2j� X��$�"��*K����j
2�Y�@/��(�'������ n�:�� n���H�(��'��
A�
��-���

+,����
���- (R) : (�:��������S����(�%�
������
	��>�R����
� :� ����"��Dx� ��� ��� �� �'2
C
���������%����DL��:�}����<�)��/9���<��
)��)�	�$�"��-���%����$�"�����!��'��
�
n����(�%�2N����./�B�,��+�!��8����'�3

�"�#�$ :
(A) A �����$�"�� R �+'�
��!��������0J"j������$�"�� A 2

*���������F2�	� R ���+',���-:�
(B) A �����$�"�� R �+'�
��!��������0J"j������$�"�� A 2

*���������F2�	� R ���$;"�,���K�%-���
(C) A ����������%2 R ������
(D) A �������%2 R ���������
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19. Identify the Pressure groups from the
following.

I. Chambers of Commerce

II. Trade Unions

III. Service Clubs

IV. Civil Society Organizations

(A) I, II and IV (B) II, III and IV

(C) I, II, III and IV (D) I and IV

20. CTBT is an example of

(A) Total disarmament

(B) Quantitative disarmament

(C) Qualitative disarmament

(D) Comprehensive disarmament

21. The advocate of the systems analysis is

(A) Karl Marx

(B) David Easton

(C) Harold Lasswell

(D) S. E. Finer

22. Who is the author of the book, A Guide to
Diplomatic Practice ?

(A) Harold Nicholson

(B) Trygvy Lie

(C) Ernest Satow

(D) Quincy Right

23. Which among the following is not an
assumption of the International System
according to the ‘Structural Realists’ ?

(A) Great powers are the main actors in
world politics

(B) All States possess some offensive
military capability

(C) States can be certain about the
intentions of other States

(D) The main goal of States is survival

19. M�)�	��K����	"01�n'�
	������F
����������������
	�
I. ���C��'x�kst��%������'x
II. �%�v��������t!
�
III. ��Q�s�����?C�z
�
IV. I���'������!l������
�

(A) I, II �����$�"�� IV (B) II, III �����$�"�� IV
(C) I, II, III �����$�"�� IV (D) I �����$�"�� IV

20. CTBT -:�2�	��A-��7"��'�"��
(A) �����Z��'[�2�%$�"��5������'�"����
(B) ������!�F���v����2�%$�"��55������'�"����
(C) �����F���v����2�%$�"��5������'�"����
(D) ������)����2�%$�"��5������'�"����

21. ����������
�*�:"?�@�"�����)��'I�K�����K
(A) �%��'?����!��'H�x
(B) 
:�*
���M��/�<�
(C) B7"�%0<"=�0FB��0<"
(D) >s�3E3�Bt,�����'

22. }}�>��+�,
���.��
	�I�?���!�	"����)I��m�/s�����������'������K�>�����'���
(A) B7"�%0<"=�2���
x�<�
(B) )�	"S�D
(C) >�+'Ns�//�h��1�<�
(D) ��	��&x��+',�<"

23. 2�v'�$�"�-���'���-���
�-��UR@/01��M�)�	��K����	"01�|K
(�����%o4$�"������������$;"�����H�(�����������>���<���@�<��
�%-���
(A) )��������� �%l� m�$�"!
01�()����%PF�
)��5-����

I�)���5-���'�
�
(B) �%PF�
&N�-�
	���:�$�"��F2�	�����S����B�,2������"�	��2

���DS�A��F�'��
(C) E�����'��%PF�
�k01������
��*�SD�����%PF�
����

\�6�����%��+�
����
(D) �%PF�
$;"�����H� )��5-�����
9������ �����������
��01

�W���h����.�:��
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24. Classical theory of organization is
concerned with
(A) The developmental aspect
(B) The environment aspect
(C) Formulation of principles of

organization
(D) Psychological aspects of human

behavior

25. Which of the following statements are
correct ?

I. Balwantrai Mehta Committee was
appointed in 1957

II. Asok Mehta Committee submitted its
report in 1977

III. G.V.K. Rao Committee submitted its
report in 1986

IV. L.M. Singhvi Committee submitted
its report in 1987

(A) I, II and III (B) I, II and IV
(C) I, III and IV (D) I and IV

26. Match the items in List-I with items in
List-II by choosing the correct code.
List-I List-II

(Revival of (Name of
Political Theory) Philosopher)

I. Philosophical 1. Hannah Arendt
Analysis of
experience

II. Search for 2. Michael
uniformities has Oakeshott
contributed to
stereotyping

III. Converting politics  3. Leo Strauss
into administration
is wrong

IV. Value free approach 4. Jouvenal
is dogmatic theism
Codes :

I II III IV
(A) 1 3 2 4
(B) 2 1 4 3
(C) 1 2 4 3
(D) 3 2 1 4

24. h��)��-�$�"�� �������h��� R�-�p����������$;"�����H�-��UR@/��2B�,
A�K
(A) (����UKp�(���"�����
(B) k�����'�"�(���"�����
(C) �������h�����!)��
�������'!I��K����.�
(D) ���!�������)�������'����$;"�����H����!���R�����(���
�

25. M�)�	��K����	"01�|�)�����.���
�����/�<"�+����<"x�����$;"�,���*��
I. C
������%$<"�� � +���7"��� � ��*��	" 1957 01

2$�"�*������C
	��K
II. (�1�����+���7"������*��	" 1977 01��������2�:�K�������

�������L���K
III. G3*3�+�3�%���8� ���*��	" 1986 01� �������2�:�K�������

�������L���K
IV. >0<"3>�<��3�R��Rt������*��	" 1987 01��������2�:�K�������

�������L���K

(A) I, II �����$�"�� III (B) I, II �����$�"�� IV
(C) I, III �����$�"�� IV (D) I �����$�"�� IV

26. ���$;"�,���� �"
�������� ����������
���-���%� ���	"/����n����	"�012
(���
����j��+'�
���������	"/���012�(���
�"�l�������'��
	�3

	�������
-I 	�������
-II
�����j
���
� 
��!�����	�-'�����
���!���.�� �������/��0����k�+����
�

I. (���� �"��2�	����'�����*�:"?�@�" 1. B7"��N�k��'N
:��<"
II. h�-��U��"��+��,����
9���F
�W��'���� 2. �+��,]J"0<"��������<"

�+���������0F.�n�:��*�@$�"!2N
��-:����-:���+���L�F2�	��-��4R��K

III. �%l�m�$�"����h�i2N�I�
��  3. D$;"!�wh�/s�
����i��%����!��'�.��������

IV. *
����
��%R7"�����-��U���L�������� 4. P1�+����0<"
R�
	���-���kR�������-�������

�"�#�$ :
I II III IV

(A) 1 3 2 4
(B) 2 1 4 3
(C) 1 2 4 3
(D) 3 2 1 4
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27. Which one of the following pair is incorrect
about New Public Administration ?

(A) Relevance-Character of knowledge
itself

(B) Values-Normative Concerns

(C) Social Equity-Enhancement of life
opportunities

(D) Change-Working for powerful
interests

28. This consists of two lists of statements, and
the candidate has to match an item in one
list with an item in the other by choosing
the correct code.

List-I List-II

(Basic Features (Name of Approach)

of Approaches)

I. Study of formal 1. Structural–
legal rules Functionalism

II. Study of informal 2. Institutionalism
rules that govern
institutions

III. Study of political 3. Political
systems in the Culture
broadest sense

IV. Study of basic 4. Neo-
political attitudes Institutionalism
of a population

Codes :

I II III IV

(A) 1 3 2 4

(B) 2 4 1 3

(C) 2 1 4 3

(D) 1 2 3 4

27. ���!������� )�� �"������I�
��� ��h�i2N� �������j�M� )�	��K
���	"01�|��+'�
����(���
����
�'��������������

(A) *PF������$;"�����H�������'�����
9���"�����

(B) *
����
��)�����!�F���v����-��U���L��������

(C) h�����G���� �����!�������������r�������(����%��

B����8-��


(D) ���!��'�L���"�	� �� �������+��,���� ) ��$;"!l��
� �W��'����
)��$�"����N�����

28. ���$;"�,���� �"
�������� ����������
���-���%� ���	"/����n����	"�012
(���
����j��+'�
���������	"/���012�(���
�"�l�������'��
	�3

	�������
�f��
��� 	�������
��������


����l��
12����3�

��
4����mn��
��5�
.&�
�����l��
12�����3�

��
4�+����
�

I. 0F��������)I�$�"��+��,��� 1. 2�v'��*5-���

����$�"����!)��
 R�-�p�����
(5-���$�"�����

II. ����������
�����I�D��:� 2. ���h�����������-���
0F��������)I�$�"���%2
2$�"����!
�(5-���$�"�����

III. *��
�-��U���L����01 3. �%l�m�$�"�������H�U'
�%l�m�$�"������������

(5-���$�"�����

IV. )��l
$;"�����H��������� 4. ���!����������h��������
�%l�m�$�"��k01������
 ��-���
(5-���$�"�����

�"�#�$ :
I II III IV

(A) 1 3 2 4

(B) 2 4 1 3

(C) 2 1 4 3

(D) 1 2 3 4
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29. The first administrative theorist who gave

a meaningful solution to the problem of

communication is

(A) Taylor

(B) Barnard

(C) Fayol

(D) Simon

30. Which of the following are fundamental

rights ?

I. Right to Freedom

II. Right to Property

III. Right to Religion

IV. Right to Equality

(A) I, II and IV

(B) I, III and IV

(C) I, II and III

(D) II, III and IV

31. Which one of the following is not

associated with the ecological approach

to the study of public administration ?

(A) Luther Gulick

(B) Robert Dahl

(C) John Gaus

(D) F.W. Riggs

29. )��h��%2�	��(��'���������+��,���� �����H�%2N�E�������+���-���	"

I�
���R�-�p������:�����

(A) �J"
��'

(B) C�%N��'=

(C) �t$�"�0<"

(D) B�,�����<�

30. M�)�	��K����	"01�)I����*������7"����H
��|*��

I. �����6��7"����H

II. kR����7"����H

III. ��������7"����H

IV. �����!���������7"����H

(A) I, II �����$�"�� IV

(B) I, III �����$�"�� IV

(C) I, II �����$�"�� III

(D) II, III �����$�"�� IV

31. )�	��K���201�k�����'�"�R�-�p������"����C�5-����0J"2����'�

>�����'���

(A) 
!�����'����D���

(B) �%C��'/�-�0<"

(C) PF�<���%s�

(D) >st3�
��C�?��3����x
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32. Which one of the following Supreme Court

judgements redefined Centre-State

relations ?

(A) S.R. Bommai case

(B) Indra Sahney case

(C) Vaman Rao case

(D) I.R. Coelho case

33. Given below are two statements, one

labelled as Assertion (A), and the other

labelled as Reason (R).

Assertion (A): The Constitution is the

expression of the will of the

people, so there must be a

provision to change the

Constitution after every ten

or fifteen years.

Reason (R) : The Constitution is like any

other law. It simply tells us

what are the rules and

regulations governing the

government.

In the context of the above two statements,

which one of the following is correct ?

Codes :

(A) Both A and R are true and R is the

correct explanation of A

(B) Both A and R are true but R is not

the correct explanation of A

(C) A is true but R is false

(D) A is false but R is true

32. M�)�	��K���201�|��:����01����)X���"��'�/�4��'�L��:��)-����%�@�
���C�5-�
�������8�����'�2��'�����K��

(A) S.R. T������$<"���:����

(B) E�)-�����O2��:����

(C) ����������%���8��:����

(D) ^3k��'3��W$;"�0<"�71��:����

33. M�)�	��-����+'�
����)�����.���
��E����C
	����*3�n����	"�)��'I�-�����
(Assertion-A),��+'�
�����K� �7"�������8 (Reason-R)

V�	"2�-��UR@/01�B�.�/�W2�K��������2�������"
���
01����$;"�,���
-�22����������8�����

(	��)*���'�� (A) : �%PF��� ���� ) ��l
� $; "��� ��H

k�%�9�������(9����'���'!���3��%C�	"/

) ��'� ��K� 0 J "-�� ��K�7 "� ���

���������x�%
� �W���h��� -�22

���!��'��F2�	��(����%��"��A�
�D

+,����
���- (R) : �%PF���������!
��E�����'� ����F/


�����	"-:�3)�� �"����2Nj2$�"��)'�������N

2$� "�� ��!
�j� 2C�5- ��� ��
�

|*��1� ���!)����:���(K��+�D$�"�

�:������K3

�"�#�$ :

(A) A �����$�"�� R �+'�
��!��������0J"j������$�"�� A 2
*���������F2�	�R ���+',���-:�

(B) A �����$�"�� R �+'�
��!��������0J"j������$�"�� A 2
*���������F2�	� R ���$;"�,���K�%-���

(C) A ����������%2 R ������

(D) A �������%2 R ���������
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34. This consists of two lists and the candidate

has to match an item in one list with an

item in the other by choosing the correct

code.

List-I List-II

(Main strands of (Features ofmain

Neoliberalism) strands of

Neoliberalism)

I. Sociological 1. International

liberalism institutions,

regimes

II. Interdependence 2. Cross border

liberalism flows, common

values

III. Institutional 3. Liberal

liberalism democracies

live in peace

with each other

IV. Republican 4. Transactions

liberalism stimulate

cooperation

Codes :

I II III IV

(A) 4 3 1 2

(B) 2 4 1 3

(C) 2 1 4 3

(D) 3 4 1 2

34. )�	��K����	"01� ���$;"�,�����"
��������>������W2� ���	"/����n����	

�012�(���
������+'�
��������	"/����"�l��������'����
	�3

	�������
oI 	�������
-II

g'��6���'���7������������89: (p�(	����'���%&���'���

(	����'���%&���'���
i �5�
.&�
i

I. h����!G����A-���'��-������� 1. (�����%o4$�"�

������
�j�)�� �"����
�

II. ����'��L�%5-����� 2. ����7"-���Y
��-��	"�����:��

A-���'��-�������  F��
�j�A����v
	�

*
����
�

III. ���h���������A-���'��-������� 3. A-���'��-���)��PF

h�����!��
�

n���-�2�"�n����	

���'$�"�������%

A��F�'��

IV. ���u?����<��A-���'��-������� 4. ���!�L
���
�

���7"�%�%2N

)���:'R�h���'��

�"�#�$ :

I II III IV

(A) 4 3 1 2

(B) 2 4 1 3

(C) 2 1 4 3

(D) 3 4 1 2
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35. This consists of two lists of statements and

the candidate has to match an item in one

list with an item in the other by choosing

the correct code.

List-I List-II

(Approaches to (Name of Book

Study Indian and Author)

Politics)

I. Historical 1. Parliament in

Approach India, Morris

Jones

II. Institutional 2. The Integration of

Approach Indian States,

 V.P. Menon

III. Legal 3. The Modernity

Approach of Tradition,

Rudolphs,

Lloyd and

Susanne

IV. Politico-Sociological 4. The Republic of

approach India, Allen

Gledhill

Codes :

I II III IV

(A) 1 3 2 4

(B) 2 3 4 1

(C) 1 2 4 3

(D) 3 2 1 4

35. )�	��K����	"01����$;"�,�����"
������������������
����-���%����	"/���

n����	��012�(���
������+'�
��������	"/����"�l��������'����
	�3

	�������
oI 	�������
-II

g%&�����������j
���6�������;���
'� (	�-	
k��
��+����
<����=����

���

��:��
����ql��
12��
i +����
i

I. ���)�������-��U���L���� 1. }}I���'?�+����<"�E�<�

E�
	�$�"!��j��+�!�s�

P1�<�x

II. ����h��������-��U���L����� 2. }}-���E��	"�)�:��@�<��kst

E�
	�$�"��<����/�<"x��

*3R�3�V�����<�

III. ���$�"��-��U���L���� 3. }}-����+�!
���N�m"�kst

)�;"
	��@�<�}}�0F$�"�
��

��'!
�0<"�������$�"��

���h��<����'!
�0<"��x

IV. �%l�m�$�"��h����!G��� 4. }}-������u?����kst

-��U���L���� E�
	�$�"!���k0;"�<�

�+�?
��R7"0<"

�"�#�x :

I II III IV

(A) 1 3 2 4

(B) 2 3 4 1

(C) 1 2 4 3

(D) 3 2 1 4
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36. Given below are two statements, one
labelled as Assertion (A), and the other
labelled as Reason (R) .

In the context of the two statements identify
the correct code.

Assertion (A) : ‘Iron Law of Oligarchy’ has
proved that ultimate
decision-making in all
democratic organizations
like political parties is
done by a few leaders.

Reason (R) : Decision-making is a
complex, contentions and
prolonged deliberative
process which delays
actions and hence the
need for a few to decide on
behalf of many.

Codes :
(A) Both A and R are true and R is the

correct explanation of A

(B) Both A and R are true but R is not
the correct explanation of A

(C) A is true but R is false

(D) A is false but R is true

37. Which of the following are features of
Development Administration ?

I. Socioeconomic change

II. Goal orientation

III. Rule orientation

IV. Client orientation

(A) I, II and III

(B) I, III and IV

(C) I, II and IV

(D) II, III and IV

36. M�)�	��-����+'�
����)�����.���
��E����C
	����*3�n����	"�)��'I�-�����
(Assertion-A),��+'�
�����K� �7"�������8 (Reason-R)
(2�(��F��'�3�V�	"2�-��UR@/01�B�.�/�W2�����$;"�,�����"
�������
���������8�����

(	��)*���'�� (A) : �%l� m�$�"�� I�Q/
� �����	"�(2N
) ��PFh��� ����� ��� �� �
01� ��!
2��'[�'�!�����'�"�������'������WKY�����K
��$�"�����0J"��:�h����'2}}^��'�<��0F�kst
kD�%�H���2��'!R����K3

+,����
���- (R) : 2� �' [ �'�!� ��� �'�"� (�:�K
����	�?�@/�����'�����j�I~�m"�"����!
	����
�����'������'������ )��)�	�$�"�� �%C�	"/
� ��� �'�
�� k
����� (���8� ��!
A��F�'����%C�	"/�>����H���������K
�����' �t8���� �WKY�����-:��2��' [$�"��
4����"��Dx� ��� (��� ��� �'�
A�.��K

�"�#�$ :
(A) A �����$�"�� R �+'�
��!��������0J"j������$�"�� A 2

*���������F2�	�R ���+',���K
(B) A �����$�"�� R �+'�
��!��������0J"j������$�"�� A 2

*���������F2�	� R ���$;"�,���K�%-���
(C) A ����������%2 R ������
(D) A �������%2 R ���������

37. M�)�	��K���201�(����UKp�I�
����$;"�����H�
9���F
��|*��	"��
I. h����!G����k���������!��'�L
II. 
9�����-��U���L��������
III. 2$�"������-��U������������
IV. k)�����
�-��U���L��������

(A) I, II �����$�"���III
(B) I, III �����$�"�� IV
(C) I, II �����$�"�� IV
(D) II, III �����$�"�� IV
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38. Given below are two statements, one

labelled as Assertion (A), and the other

labelled as Reason (R) .

In the context of these two statements

which one of the codes given below is

correct ?

Assertion (A) : The systems approach

is also known as the

“Situational Design

Theory”.

Reason (R) : It considers the

informal relations and

environment factors

in addition to the

formal structure of

the organization.

Codes :

(A) Both A and R are true and R is the

correct explanation of A

(B) Both A and R are true and R is not a

correct explanation of A

(C) A is true but R is false

(D) A is false but R is true

38. M� )�	��-��� �+'�
���� )�����.���
��E����C
	����*3� n���-�22

)��'I�-����� (Assertion-A),��+'�
������-�22� �7"�������8

(Reason-R) �(2�(��F��'�3�V�	"2�-��UR@/01�B�.�/�W2

���$;"�,�����"
�����������������8�����

(	��)*���'�� (A) : �������h��-��U���L��2N����-���%{�����h���'

R�-�p������%����!
�

�R�
����C
��������K

+,����
���- (R) : (K� 0F�� ����� )I�$�"�� +��,� ��

�������h����2��'v'�"�I�.�j�0F�������

)I�$�"���%2� ���C�5-�
����j

k� ��� �'�"�(���
����� � ��!
�

�������"���01�	��4��������.��K

�"�#�$ :

(A) A �����$�"�� R �+'�
��!��������0J"j������$�"�� A 2

*���������F2�	�R ���+',���-:�

(B) A �����$�"�� R �+'�
��!��������0J"j������$�"�� A 2

*���������F2�	� R ���$;"�,���K�%-���

(C) A ����������%2 R ������

(D) A �������%2 R ���������
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39. Match items in List-I with items in List-II by

choosing the correct code.

List-I List-II

(Name of Book) (Name of Author)

I. What is to 1. Lenin

be done ?

II. Social Reform 2. Mao Zedong

or Revolution

III. On Contradiction 3. Rosa

Luxemburg

IV. Prison Notebooks 4. Gramsci

5. Marx

Codes :

I II III IV

(A) 1 3 2 4

(B) 2 1 5 4

(C) 1 5 4 3

(D) 3 2 1 4

40. Which Indian economist was a member

of the Brandt Commission constituted in

1977 to promote North-South dialogue ?

(A) Amartya Sen

(B) Manmohan Singh

(C) Subramaniam Swami

(D) L.K. Jha

39. ���$;"�,���� �"
�������� ����������
���� -���%� ���	"/����n����	"012
(���
������+'�
���������	"/���012�(���
�"�l�������'����
	�3

	�������
-I 	�������
-II

( 	�-	
k��
��+����
) (���=����

���+����
)

I. ���<"�MP<"�.�u�
���<��� 1. 0;"2�<�

II. h~�@0<"��y���'v�k��' 2. ���!�"�P;"
�����

����
!��@�<�

III. k�<���%�<�).
	������<� 3. �"PF�
�+�o�C��'�

IV. )R�l�<���"�<"�C����x 4. )�%�<��R�H

5. ���!��'H�x

�"�#�$ :

I II III IV

(A) 1 3 2 4

(B) 2 1 5 4

(C) 1 5 4 3

(D) 3 2 1 4

40. ����'��h��<�� 
+�,0F���� ����� )������'��
������F2�	��  1977

01)TF�
��� ���V��@�<��2$�"�*�����C
	���� ���
���� -�201
�� �"��
	��%�A���N� F��'4$�"��
����>�����'���

(A) (������'������<�

(B) �����<��+�!�7"�<��R�����

(C) ���)C�����"��h��*�

(D) >0<"3�+�3���'�!
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41. Who, among the following, are the
Extremists ?

I. Pherozeshah Mehta

II. Lala Lajpati Rai

III. Bal Gangadhar Tilak

IV. Bipin Chandra Pal

(A) II, III and IV (B) I, III and IV

(C) I, II and III (D) I, II, III and IV

42. Given below are two statements, one
labelled as Assertion (A), and the other
labelled as Reason (R) .

In the context of these two statements
which one of the following codes is correct ?

Assertion (A) : New social movements
have had positive and
inclusive impact on the
working of Indian
Democracy.

Reason (R) :   Democracy, though rule of
all the people, often ends
up being exclusive and
dominant over the
marginalized others.

Codes :
(A) Both A and R are false

(B) Both A and R are true and R is
correct explanation of A

(C) A is false but R is true

(D) A is true but R is false

(A) Pitts India Act, 1784

(B) Indian Councils Act, 1861

(C) Charter Act, 1833

(D) Government of India Act, 1858

41. M�)�	��K����01�('��-���
��>�����'���
I. Rt�"P<"����+���7"��
II. 0F0F
l���<���%$<"�
III. TF
�����%5-����'�'
���
IV. uR��<�����)-���I�0<"
(A) II, III �����$�"�� IV (B) I, III �����$�"�� IV
(C) I, II �����$�"�� III (D) I, II, III �����$�"�� IV

42. M�)�	��-����+'�
����)�����.���
��E����C
	����*3�n����	"�)��'I�-�����
(Assertion-A),��+'�
�����K� �7"�������8 (Reason-R)
M� �+'�
	���	"2� -��UR@/01� B�.�/�W2� ���$;"�,���� �"
�������
���������8�����
(	��)*���'�� (A) :  F��'����)��PFh��������� B�,����!������

h����!G����A-������!
�����%�%���v���j
(2N������!O
�����E�����
�����W�:�
)�� F��2N����DS�A��N�'��

+,����
���- (R) : ) ��PFh��� ������ ) ��l
I�
���
($�"������L�	"�	����0F����-���%{
01
���]F�� ��� �'��%� � ��� ���H� ��
A���N���B�,�k 5K�������
�+�0F�'����!��j��W2N
������!O
�����(����UK p�	�
�+�
���
�A����.�
l��'����������K3

�"�#�$ :
(A) A �����$�"�� R �+'�
��!��������0J"j������$�"�� A 2

*���������F2�	�R ���+',���-:�
(B) A �����$�"�� R �+'�
��!��������0J"j������$�"�� A 2

*���������F2�	� R ���$;"�,���K�%-���
(C) A ����������%2 R ������
(D) A �������%2 R ���������

43. |����./��-���%�T;"��%0<"���������'N��'�l�����'0<"j� F��'���-:���"���������'N��'
l�����'0<"�($�"!���'���
(A) R��<"x�E�
	�$�"!����./�j 1784

(B) E�
	�$�"��<���g2x0<"x����./�j 1861

(C) ����'/��'����./�j 1833

(D) ��������'N�+����<"�kst�E�
	�$�"!����./�, 1858
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44. Match the items of List-I with the items
of List-II by identifying the correct code.

List-I List-II

I. Gabriel Almond 1. The Nerves of
Government

II. Karl Deutsch 2. The Politics of
the Developing
Areas

III. Arthur Bentley 3. The Decision
Process

IV. Harold Lasswell 4. The Process of
Government

Codes :

I II III IV

(A) 2 1 4 3

(B) 4 1 3 2

(C) 1 3 4 2

(D) 3 1 2 4

45. The term ‘blue helmet’ is associated with
which one of the following ?

(A) UN Peacekeeping Force

(B) Environmental Activist Group

(C) Fire Service Organisation

(D) International anti-terrorist squad

46. The Power Elite according to
C. Wr igh t  Mi l l s  compr ises  o f

(A) Big business, military and media

(B) Political cliques, media and
bureaucracy

(C) Big business, political cliques and

military

(D) Military, media and political cliques

44. ���$;"�,�����"
������������������
���������-���%����	"/����n����	��012
(���
������+'�
��������	"/����"�l��������'����
	�3

	�������
oI 	�������
-II

I. �:�)u$�"�0<"�k
v�
�� 1. K��+���'��x�kst���������'N

�+����<"

II. �%��'?�
��!s@� 2. K�I�D�	"���x�kst�K


+����
R������|�$�"!s�

III. k��'���'�T;"��;"? 3. K�
+�R��@�<��)I~B�s�

IV. B7"�%0<"=�0Fs���+�0<" 4. }K�)I~B�s��kst
��������'N�+����<"

�"�#�x :

I II III IV

(A) 2 1 4 3

(B) 4 1 3 2

(C) 1 3 4 2

(D) 3 1 2 4

45. }}C!?� B7"0;"v�<"���(�:�� ��-����M� )�	��K� ��201� -:�2�	�
���C�5K�����K��
(A) ^�����%l����*�'����'������'9���"�-��#�"�
(B) ���%������'�"�$�"!�	�/*���/
�������!�7"�
(C) Bt,��'���Q�����k��'��+�,PJ"�@�<�
(D) (�����%o4$�"��4)�����-�������'�:'����-��#�"�

46. R�3��+',�<"�*�0<"x� )���%��'������(5K�%��'����@�/
01�M
)�	��K�����'�� F�����%�A��F��'�3
(A) C
����I��%
�j�B�,�����j�)��h���'���!5-������!
�
(B) �%l� m �$�"�� � �����%
�j� ) ��h���'� ��!5-���� ��!
�j

A-"�Sh���������
(C) C
�����I��%
�j��%l�m�$�"��������%
�j�B�,�����
(D) B�,�����j�)��h���'����!5-������!
�j��%l�m�$�"��������%
�
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Read the passage below and answer the

questions 47-50 based on your understanding

of the passage.

Every State is a community of some kind, and

every community is established with a view to

some good; for mankind always act in order to

obtain that which they think good. But, if all

communities aim at some good, the State or

political community, which is the highest of all,

and which embraces all the rest, aims at good

in a greater degree than any other, and at the

highest good.

Some people think that the qualifications of a

stetesman, king, householder, and master are

the same, and that they differ, not in kind, but

only in the number of their subjects. For

example, the ruler over a  few is called a master;

over more, the manager of a household; over a

still larger number, a statesman or king, as if

there were no difference between a great

household and a small State. The distinction

which is made between the king and the

stateman is as follows : When the government

is personal, the ruler is a king; when, according

to the rules of the political science, the citizens

rule and are ruled in turn, then he is called a

stateman.

But all this is a mistake; for Governments differ

in kind, as will be evident to any one who

considers the matter according to the method

which has hitherto guided us. As in other

departments of science, so in politics, the

compound should always be resolved into the

simple elements or least parts of the whole. We

M� )�	��K�I���P<"2� ���K*j�(����%�7"���� �:�����W����
	�� �����'������

47�����
	��50 �����'�����A���N�)����"N
����������!5-������E�����
	�3

�%l���n����*5-���+��,���� ������!O�:��������$�"��� )��'��������!�7"�����

|-"�n�����:��
��(good) I��-���F2�	��|�%L.���:�$�"��C
��������K3

>�-��������J"j� ���!������� PF'�>
?���
���� ����	�� |K� �:��
��(2

(����������F�"�(-:��*5-����%�)������h����'�3����!������� ������!O
&N

�:��
�� �"��'�������J"�  �(2N� ������!O
�����N� B�-�� Y-+� ,� ��j�(2N

������!O
����� ������01� E�����
���������:�� �%l������� ��0F� �W��L

�:��
�����(highest good)� h�5K����.�� ������� 
9������%

B�.�/�����.��Kj��22�(���������������:��
���(�����������3��%l&'��
���

(stetesman)� �%�j� ���U�7" ����j�$�"�l���!2�
9���F
2N� n�:�

*5-���+��,������2� �W�-����'��  F*h����'�3� ����k5�����01�A���N� )��l


���\�01� ���!��'�L�A�.��K� ���I�Lj� ����
9���F
01� ���!)����

���!��'�L�A�
��-��2� ����'�� F*h����'�3�A-��7"��'�"�%� �+�I�L
��J"

V�(�)I�$�"��01��W�-����:��I�D����(��������$�"�l���!2� �(����

�����N�>����H���������K�A���N����U�7"��� �"��
�����I�D�������U�7"$�"!l���!2� 

E��%�>����H���������K2�I�D�����%��0J"-���%l&'��
���3���0F

B�-��Y����UO2�	�j���0F�����N��%PF�2�	��|V���:�
��0J"-�����N.�?�%�V��'�

 F*h����'�3��%2j��%��	�j��%l&'��
	��	������5-����A���N��:�
��M)�	��K

*5-����%�A�.��K3�)�� �"�������n���������	���	�����C�5K���K�(�'���:�

I�
� � ��
 	 2�%�� (2� (��F� ����� �%l&'���� i

2$�"����!
������������j�I���'�
�� ���:���I�
����
�j�I�D����
�j

(�'���:�j�(���
����I�
����
	�2��%l&'��
����(2�(��F�����3

E-������I���'I��J"3�>�-��������J"� )�� �"������
��
9���F
�Q���

���!��'����!�A��F�'��3�E��L�	"-��%����������������!��'�-����'������%�A���N
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must therefore look at the elements of which the

State is composed, in order that we may see in

what the dfifferent kinds of rule differ from one

another, and whether any scientific result can

be attained about each one of them.

47. Every Community is established for

(A) Social compulsion

(B) Good

(C) Security

(D) Fulfilling social desires

48. The State aims at

(A) Law and order

(B) Distribution

(C) Highest good

(D) Taxation

49. When the citizens rule and are ruled, the

head is called

(A) King

(B) Head

(C) Emperor

(D) Statesman

50. If the compound or whole is to be

understood

(A) The compound or whole is to be

understood

(B) Its major part has to be studied

(C) It has to be divided into its least parts

(D) It has to be compared
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47. )��'�������!�7"�������W��'�����|�%L.���:�$�"�C
��������K

(A) h����!l����(2����'����

(B) �:��
�

(C) ��'9���"

(D) h����!G�����"�����4��'
���

48. �%l�������-:�22�
9��������� (aim)��%��:���������.��K

(A) ���'� �")-�����
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(B) ���R��	"
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(A) �%�

(B) B�-��Y

(C) ���)��������
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